STAT 2601  QUIZ #3                  

NAME:                                                 Student ID:                                                                                                                            
Problem 1. Here are the counts (in thousands) of earned degrees in the United States in the 2001-2002 academic year, classified by level and by the sex of the degree recipient:

	
	Bachelor's
	Master's
	Professional
	Doctorate
	Total

	Female
	640
	230
	40
	20
	930

	Male
	500
	160
	50
	30
	740

	Total
	1140
	390
	90
	50
	1670


(a) If you choose a degree recipient at random, what is the probability that the person you choose is a woman? (2 pts)
(Answer)
               P( Woman ) = (930 / 1670)

                                    =  0.557
(b) What is the conditional probability that you choose a woman, given that the person chosen received a professional degree? (2 pts)
(Answer)
     P( Woman | Professional ) 

         =  P(Woman and Professional) / P(Professional)

Since P(Professional)= (90 / 1670) and 

          P(Woman and Professional) =(40/1670)

P( Woman | Professional ) = (40/1670)/(90/1670)

                                           = 40/90 = .44444             
Problem2.  A small store keeps track of the number X of customers who make a purchase during the first hour that the store is open each day. Based on the records, X has the following probability distribution.

	X
	0
	1
	2
	3
	4

	P(X)
	0.1
	0.1
	0.1
	0.1
	0.6


(a) What is the mean number of customers who make a purchase during the first hour that the store is open ? (2 pts)

(Answer)
E(X)= 0(0.1)+ 1(0.1)+2(0.1)+3(0.1)+4(0.6)
=0.1+0.2+0.3+2.4=3.0
(b) What is the variance of the number of customers who make a purchase during the first hour that the store is open? (2 pts)

(Answer)
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Problem 3. A shipment of twenty expensive watches has been received by a jewelry store. The jeweler usually inspects three of the watches to check for fakes. If no fake is found, the jeweler accepts the shipment. If the shipment actually contains six fakes, find the probability that the shipment is not accepted. (2 pts)
(Answer) 
X= # of the fake watches
n= 20  , p=6/20=0.3

X has B(3, 0.3)
P(Accepted)=P(X=0)

Since 
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P(Accepted)=1-P(X=0)= 1- .343= 0.657
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